b, £ ¥ £ M B =

HEBRA: A, it A

RN Lt T AR 0.3001 Horr: Pt 0. 2698
HEAEN M K B B pr
2 (#) JE IR it b
BUsRGL [dAUE . HRiERE, DU e, LHAUR GF
HIES T ﬁﬂﬁg%%ﬁﬁ i&;‘égﬁl’é% FEAERRHE | f5%
HHt 0.2698 124.5 1
FeA A H
R 0
Pl 0
FoAth A I 3 0.0303 124.5 1
i3 £ 4y 0
A
FE A 0
AR 0
T e AME B 12.141
Hiy b PR E P A B 1.3635
BEAEHb AR B AT 2 PR P 5% 28.6664
i) 22 B 45 At 95 0
fiEHh 2 2 79.5334
k=GN 0 i 2 B 5 E I 1
RIB B AN B 0
] 5 .
5| o fRbE S 0
‘ﬁ%%ﬁ% B 1 ol i B 0
o FH LA 2 B 0
fEH RN I B 0




HoAt
i
Vi
1
W

Lo AR HAMESATIAT R TR AR AR e . Ik
M 5 L AR 9 L B AN A . T e At
EVAMEE T E G S MIF T a8 T, HhRX
CRE N 8.3 Jion/ v, W MU EREEY) KOKRB i
PEEH PN 3 Jioe/wT, B TAMEN N 11, 3 Jion/ mbsiE
KM

2 WE (MRl 7)), CAERMAEHAT Z o R
KRR, XM 22 B 7 R T 7

3. AHLIK FHHANY AT

HEN: XREE




